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(D) (C) (B) A) “QUESTIONS _ a
3 b Sgeu*v o0 Fsp el FAsh| 1
-Social ientific Ethical Natural | i i
: Scianos knowladge Knowledge Sci According to Alfreq Marshall, Eoonmms is
:—?bﬂ Gubt .z?:’dl .‘.u“l}b' .h‘b?b‘dt‘f f']}' wdsy -t b’..,D’ d, ﬁ; /‘é;{ 2
Applied Nature and=4l | Principles of Wealth of | The name of Book written by Professor
l N Economics | ° 'ﬁ“}“n%sof Economics Nations * |Robbins is '
: Nilg 1l ot oali} ‘_}.SL 1] JII;! g t’lkrulil s d_st J‘bc.:.. {jF’ f J.‘Jé_, o'( 3
Y A Negative utility | Positive utility | Total utility | Initial utility |utiity derived from the first unit of a Good is calied|
\ er | 4 JuH1L A7 .J;i,; ¢S |[The B EIPEL e Ll | a
i Rate of Retum|  Elasticity | Mhaiae | EXEN800¢ | Exchange Rate between two gobdd s called
E_\ Supply +~ Price =/ | Speed ) | Demand .. |Continuous variable is 2S5
[" 1 . l,é 39 aslil sl 03l J‘f?»'! oalil 4},‘.’:;”4 ol - Gasr tmﬁr Vﬁg}né. 4 ..,ele 2 (}'(
R i . i | . Willand Willand | Two Conditions arefiécessary for the
P ' Wl[l and stock | Will and need desire Power t0 | demand of a corfim odi
L & — purchase £o |
= Juer | suedst |dedr | Jieed _ s odmrl b| 7
< Decreasp in | Increasein | Decreasein Decreasein |The cause of Rise in demand is
-\ Population Inm Income i Price ] . = _
i Horizontal & | Vertical Uss? | Negative §~ | Positive =} |Theslope of supply curve is - i ls| 8
P drded | dewdst | wh | dese A A
D - g 5 N
2 Changein | Changein | gher Factors [ Cha ¥he cause of Shifting of Supply Curve is
= demand Income . _ P o ;
g 14y w7 & : < Leasn Ul e b s WISl 10
3 : V5 The market is in Equilibrium, where Demand
D . infinite Equal Negéﬁve Pgs and Supply ars | _ ?
2\ Kty Fets K406 . B il 11
= State Economy Business s {The Land is)a free gift of ?
2 IR R - & i | 12
X Roads ' | PersonalCar Pﬁ?&?‘ Pergonal Lahi hNaﬁonal Capitalis  *
. NS AT AN S Qv | Sl | —e (E b e Bude | 13
N 3
. rnléa?e:;%g delé?:agifng Law of Inm‘;};{g Other name of Law of decreasing Retumn is
{ Go_st ' . 0081 Constant Cost Retum =
e s L Lol LJusH |Thelawofvarisble -y Bt €20 | 14
¢ . Keynes Robbiris W.J. Ryan _M’;'g?..g“ proportions was presented by.
1 7 e » ol | in ¢ Grraebobbig SpAt s | 15
: Negative Limited Zero _Unlimited | Short Run, Production Capacity of the firm is
N e vy & n* - U POBL P vt Ssar | 16
Dish shaped | U Shaped Horizontal Vertical In long Run, The Shape of Cost curves is _
=S e | demf¥ U bt Sy PdvinFoe iSas )il 17
= Profit Marginal Average Total | The amount Received by Selling ¢ Jii/’
. _ Revenue Revenue Revenue | ¢ an additional unit of output is calied
s |,f.: . » L . -4 3:1')1.1; d’ P Uibaslel| 48
Four Th Two One 1 |Under Monopoly, th_e number of firms.is/are
Lt | Lol & LSasH | Liquidiy LI G5 | 19
J.M. Keynes | Adam Smith Robbins M'a,.sdl' Ehaud Preference Theory was presented by
e Cw w ezl [Thereward ' bifiobe ik S2T 20
Cost Profit ‘Interest Wage received by Entrepreneur is called
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Answer briefly any Eight parts from the followings:- 8x2=16 -//z/=liz L1721 2T & e Lifitn -2
What is the difference between Science and At JU L u)’u!H‘ (i) Define an economic problem.-/./ i /S (i)

What is meant by Micro economics? el Ve AP QL (i)
What is meant by Scientific laws? Sesly Ve of l;"d? (iv)
What is meant by Marginal utility. Sy Y 0ol ﬁ'(vl) What is meant by total utility?%< sl |/ ulilJ (v)
What is meant by consumer equilibrium? ‘e slp e uIL Silo (vii)
What is meant by increasing function. ' e slp lfr_ J‘IS" d/:f (viii)
What is meant by law of demand? e slp Ve HysE (ix)
What is meant by substitution effect. ' —eAdpUe Hd (x)
,What is meant by arc elasticity? ; : Sespble L7 (xi)
What is meant by Income elasticity? ' e A J 3t (xii)
Answer briefly any Eight parts from the followings:- 8x2=16 .L{&}uymﬁ&m & :_.J/;_‘;djm 3
What is meant by supply. ' -& oy Ve 4 (i)  Whatis meant by Fall iniSupply: <>l Ve S (i)
What is meant by Extension of Supply. ' —< ol y’;. SUE L aey ('iii)
Write two assumptlons of Law of Supply. -_u:.’ﬁ;:, Wy 209 L a6 (iv)
What is meant by Market Equilibrium. : - YL Shr (v)
Write the names of the factors of productmn . ; uﬁtéﬂ;_ﬁ o (vi)
What is meant by Capltal Formation. < i, Lfr_..fL /J’éy (wiii) ( Wnte the concept of capital. -u:'a,mi’ Kl (vii)
Write two determinants of Scale of Production. -u.'.'JJlfuf.Jl.g 6 (%) Wiite two functions of organlsatton._uffJ'fI)»Z(f; (ix)
Write two disadvantages of Large Scale of Production. ™ _uff.:.tuﬁ».{_ ij,_t_g <k 2 (xi)
"+ Define the Law of Constant Returns. . ' . —ufu’ u&’}JJ‘de.fu:’F (xii)
Answer briefly any Nine partsXrom thefdllowings:- 9x2=18 - /272 L1 I o $fe ALsts -4
Define supplementary cost. _E G’ ()  Whatis meant by short run? Selre Josr ()
What is meant by marginal revenue? %1/ Ve ds F" (iv) . Define Average cost. 5 ...dj‘l,( et Ll (i)
Write two prdperhgs ?f monopoly )\ ; e . .,J - Lar":: J Sslsosle! (v)
J Why averaga revenue Curve ls fiprizontal in perfbcf compeutlon'? ; Y S trud LS;I;*J& K bt ,;;,Jf (111)
What is meantby day to day market. _ : E ' feitrl Ve u’y.-»:’ (vii)
Define rent. -ZE 37600 (X)  Define market. -&E PSS (i)
Define interest. _g:r -...e}/’."J o (xi) What is meant by minimum wage? ?‘L Ay Lr(r'_ Lﬁf =2l (x)
Define transaction demand for money. g ® _é ..y/:"J A e /s S (xii)
Differentiate between Net and gross profit. ' LZE LGPt eIl S (xdil)
Part 1 : o ' _ . '
Note: Attempt any three questions. 10x3=30 .d__&f-.:auzf. elirfe Jf -<d
5. Explain the merits and demerits of Robbins's definition JZUl m Ukt it Pl e felboe § 0 L5
~ of Economics. ' S e
6. Explain the Factors, which effect the Elastioity of demand. S Sl S i 48 6
7. Wiite the factors affecting the efficiency of capital. : G fInd SiedksSey, o7
8. Explain Law of increasing returns with the help of a table and diagram. ~_zZ 5, L(r;,_f‘fgj,,fu;,:‘«f_-_-)u, SH s -8
9. What is meant by rent? Describe its various kinds. ' Sk BISBSUes Ve ul 9
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